
DE/FR/IT/EN/ES/NL/CS/LT/PL/HU/RU/BG 11
/0

6 
 8

.9
98

8.
8.

00
0.

00
0.

1 
 K

R
A

passend zu Artikel-Nr. 8.9097.1 Fischerbox mit Innengewinde M12
adapté à la réf. d'article 8.9097.1 Fischerbox avec filetage intérieur M12
adatto per l'articolo n°. 8.9097.1 Fischerbox con filettatura interna M12
suitable for article no. 8.9097.1 Fischerbox with internal thread M12 
adecuado para Artículo número 8.9097.1 Fischerbox con rosca interna M12
passend bij artikelnr. 8.9097.1 Fischerbox met binnendraad M12
vhodné pro díl č. 8.9097.1 Fischerbox vnitřnim závitem M12
tinkamas gaminiui Nr. 8.9097.1 Fischerbox su vidiniu sriegiu M12
pasujący do artykulu nr 8.9097.1 Skrzynka Fischer z wewnętrznym gwintern M12 
megfelelő a kövertkező cikkszámhoz: 8.9097.1 Fischerbox M12 belső menettel
подходящий к предм. N 8.9097.1 Fischerbox с внутренней резьбой M12
подходящ за артикулен 8.9097.1 Fischerbox c вътрешен болт M12

a   Stockschraube M8 oder M10
a   Vis M8 ou M10
a   Vite M8 oppure M10
a   M8 or M10 wood anchor bolt
a   Tirante roscado M8 o M10
a   Draadeind M8 of M10
a   A tyčovy šroub M8 nebo M10
a   Dvipusis varžtas M8 arba M10
a   Šruba kolkowa M8 lub M10
a  Tőcsavar, M8 vagy M10
a   Стержень с резьбой M8 или M10
a   Крепежен болт за дърво M8 или M10

b   Gewindebolzen M12*
b   Boulon fileté M12*
b   Tirante filettato M12*
b   M12 threaded pin*
b   Pernos roscados M12*
b   Draddbus M12*
b   Závitový svornik M12*
b   Srieginis prištas M12*
b   Kołek gwintowany M12*
b   Menetes csap, M12*
b   Палец с резьбой M12*
b   Болт M12*

*  Achtung: der Gewindebolzen ist selbstarretierend und kann nicht mehr gelöst werden!
*  Attention: Le boulon fileté est auto-bloquant et ne peut plus être desserré!
*  Attenzione: il tirante filettato è autobloccante e, una volta awitato, non si può più estarre!
*  Attention: the threaded pin is self-locking and cannot be unscrewed!
*  Atención: El perno roscado es autoblocante y no puede ser desroscado!
*  Pas op: Het draadeind kan niet meer verwijderd worden!
*  Pozor: Závitový svorník je samosvorný a nemůže být již nikdy povolen!
*  Dòmesio: srieginis pirštas yra savaime užsifiksuojantis, todòl vòl atsukti jo nebegalima!
*  Uwaga: Kołek gwintowany posiada samoblokadę i nie možna go już wyjąć!
*  Figyelem: a menetes csap önreteszelő, nem oldható!
*  Внимание: палец с резьбой самоблокирующий, его невозможно больше ослабить!
*  Внимание: Болтьт блокира автоматично и не може а бъде развит!

Laufen Bathrooms AG
Wahlenstrasse 46
CH-4242 Laufen, Switzerland
www.laufen.com 

8.9406.2-3 Gewindebolzen-Umbauset M8/M12-M10/M12
8.9406.2-3 Boulon fileté. Set de montage M8/M12-M10/M12
8.9406.2-3 Tirante filettato. Set per il montaggio M8/M12-M10/M12
8.9406.2-3 Threaded pin reversion kit M8/M12-M10/M12
8.9406.2-3 Pernos roscados. Set de transformación M8/M12-M10/M12
8.9406.2-3 Verloop draadeind montageset M8/M12-M10/M12
8.9406.2-3 Souprava pro přestavbu se závitovým svorníkem M8/M12-M10/M12
8.9406.2-3 Perstatymo komplekto srieginis pirštas M8/M12-M10/M12
8.9406.2-3 Kołek gwintowany zestaw montażowy M8/M12-M10/M12
8.9406.2-3 Menetes csap, M8/M12-M10/M12 átépítőkészlet
8.9406.2-3 Палец с резьбой монтажньıй комплект M8/M12-M10/M12
8.9406.2-3 Болт M8/M12-M10/M12

0.1

25

a

a

b

b

60

60

Garantie/Haftung nur bei Montage gemäss Anleitung.
Responsabilité/garantie à condition d'observer les instructions de montage.
Garanzia/Tenuta solo se si rispettano le istruzioni per il montaggio.
The warranty/liability only applies when installation is effected as per the instructions.
La garantía solamente será válida si se siguen las instrucciones de instalación.
Garantie/aansprakelijkheid uitsluitend van kracht indien volgens de instructies is geïnstalleerd.
Záruka a ručení za vady jsou poskytovány za podmínky, že montáž je provedena v souladu s tímto návodem.
Garantija taikoma tik tuo atveju, kai montavimas yra atliktas tiksliai pagal instrukciją.
Gwarancja obejmuje wyrób jedynie wówczas gdy montaź zostą przeprowadzony zgodnie z instrukcją.
Szavatosság/jótállás csak az útmutató szerinti szerelés esetén.
Мы предоставляем гарантию и несем ответственность, только если монтаж произведен в 
соответствии с инструкцией по монтажу.
Гаранцията / отговорността е валидна само когато монтажът е изпълнен както е 
указано в инструкцията.

1 2 3


